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SINGAPORE  PRIMARY MATHEMATICS

PLACEMENT TEST 6B

	Name: 
	
	
	
	   Marks: ____ / 100
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	Section A ( 30 Marks )

Questions 1 to 15 carry 2 marks each. For each question, choose the correct answer and write its number in the bracket (  ) provided.



	1.
	The value of 18 + 48 ÷ 8 – 2 x 6 is ____________.

(1) 24
(2) 18
(3) 12
(4) 54
	(        )



	2.
	If                                             =  65, then                      =__________.

(1) 14
(2) 28
(3) 39
(4) 36

	(         )

	3.
	In 64,753 the digit ‘4’ is in the ________ place.

(1) ones

(2) tenths

(3) hundredths

(4) thousandths
	(          )

	4.


	Write 135 +
[image: image2.wmf]100

1

10

4

+

 as a decimal. 

(1) 135.41
(2) 135.041
(3) 135.0041
(4) 13.541

	(          )


	5.
	Find the shaded area of the circle in terms of (.

(1) 72 ( cm2
(2) 144 ( cm2
(3) 36 ( cm2
(4) 108 ( cm2
	(           )


	6.
	The value of x is ________.

(1) 80(
(2) 70(
(3) 100(
(4) None of the above
	(           )

	7.
	Which of the following is the best estimate for 67 ( 28?

(1) 19 000

(2) 1900
(3) 189
(4) 1600

	(           )

	8.
	Andy’s height is 
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 of Pete’s height.  The ratio of Pete’s height to George’s height is 4 : 5.  Find the ratio of George’s height to Andy’s height.

(1) 5 : 2
(2) 5 : 3
(3) 3 : 5

(4) 2 : 5

	(           )

	9.
	Mary spent 20% more than what Susan spent.

If Mary spent $300, how much did Susan spend?

(1) $220

(2) $150
(3) $250
(4) $175

	(           )

	10.


	Tom has $30. Alan has 
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 as much as Tom. What is the average amount of money they have?

(1) $22.5
(2) $22.00
(3) $25.50

(4) $15.50


	(           )


	11.
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 + 
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The missing number in the box is ________.

(1) 18

(2) 6

(3) 3

(4) 2


	(           )

	12.
	A book costs $y and a pencil cost 
[image: image12.wmf]3

1

  as much.

Find the cost of 4 books and 6 pencils.

(1) $5y
(2) $6
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y
(3) $7y
(4) $6y

	(           )

	13.
	5 dozens apples cost $b. What is the cost of  dozen such apples?

(1) $
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( 2) $
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(3) $
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(4)$
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	(           )


	14.
	 Simplify 7a – 4 – 12a + 10
(1) 5a + 6
(2) 19a + 14 

(3) 6 +19a
(4) 6 – 5a

	(           )

	15.


	Two rectangular tanks A and B have the same lengths and breadths.  However, their heights are 18 cm and 36 cm respectively.  What is the ratio of the volume of Tank A to that Tank B?

(1) 1 : 2
(2) 2 : 1
(3)  9: 13
(4) Non of the above


	(           )


	Section B ( 40 marks )

Questions 16 to 35 carry 2 marks each. For each question, write the answer on the space provided.


	16.
	In 23.765, the value of the digit ‘6’ is equal to 6 ( _________.
(Give your answer in fractions)




	17.
	If  a = 4, find the value of   
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	18.
	8 ( 15 = 15 + 15 +                  ( 15
What is the value in the box?

  



	19.
	The pie chart shows the proportion of animals in a section of a zoo.










There are as many penguins as owls. 

What fraction of the animals consists of monkeys?

(Express your answers in lowest terms)



	20.
	The volume of a cube is 625 cm3.  If its base area is 125 cm2, find its height.




	21.
	Express 3.27 m as a percentage of 1 km.



	22.
	A car traveled 210 km in 3 hours.  It traveled another 2 hours at 60 km/h .  Find the average speed for the whole journey.






	23.
	Alex and his 3 friends sold 150 charity tickets each.  Helen and her 5 friends sold 1000 charity tickets altogether. What is the average number of tickets sold by each of them?


	24.
	John and Jack shared a sum of money in the ratio 4 : 5.  If Jack were to give John $12, both would have the same amount of money.  How much did John have at first?





	25.
	Jill.  used 
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of the flour to make a pizza and
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  of the remaining flour to make a pie. What fraction of the flour was left?





	26.
	Kim ran around the track of a garden 4 times.  What was the distance that he had run? (Take ( = 
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	27.
	How many lines of symmetry are there in the figure of the running track in Question 26?




	28.
	If y = 8, find the value of  4y2 – 20y




	29.
	Jackson bought a Zoom camera for $3540.  The deposit was $800, and he paid a monthly installment of $184 over 17 months.

How much interest did he pay after 17 months?




	30.
	I am 16 years old.  In 12 year’s time, my father will be twice my age.  How old is my father now?





	31.
	The sum of 3 consecutive odd numbers is 27.  Find the largest of these 3 numbers.




	32.
	The total cost of 6 cup boards is $ 42.  If I were to buy 3 more cup boards that cost $8.0 each, find the average cost of the 9 cupboards.




	33.
	There are 4.75 liters of water in the container as shown below.  How much more liters of water must be added to make it 
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 full?  (1 liter = 1000 ml)







	
	

	34.
	ABDE is a parallelogram, BE is perpendicular to ABC, where ABC is a straight line.  Find the value of angle AEB.








	35.
	Find the area of the shaded part in the figure below. (Take ( = 
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	Section C ( 30 marks )

Questions 36 to 40 carry 6 marks each. For each of the following problem sum, show your work clearly in the space provided.



	36.
	An empty rectangular tank contains 4 identical cubes with sides 5 cm. The tank is then filled with water to a height of 15 cm.

(a) Find the volume of water in the tank. (3 m)

(b) Given that the height of the tank is 20 cm, how many more cubes must be added so that the water level touches the brim? (3 m)














     










        25 cm




	37.
	A Bus set off from City M to City N traveling at an average speed of 50 km/hr. It reached the town in 90 minutes. A car set off at a later time from City M to City N at an average speed of 60km/hr and reach City N at the same time as the truck. 

Find: a) The distance between City M and City N. (2 marks)

         b) How much earlier did the bus set off than the car? (4 marks)


  




	38.
	Monica had roses and jasmines in the ratio 7: 3.  She sold 200 roses and the ratio of the number of roses to the number of jasmines became 3 : 7. 

Find

(a) the number of jasmines Monica had (4 m);

(b) the number of roses she had at the beginning. (2 m)




	39.
	The ratio of the number of boys to the number of girls in an enrichment class was 3 : 5.  In the first year, when 15 boys joined the class, there was a 50% increase in the number of boys.  In the second year, some more children joined the class and the enrolment of the enrichment class increased by another 40%. 

Find the overall increase in the number of children for the 2 years. (6 m)



	40.
	Kelvin’s age is 
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 his cousin’s age.  His cousin will be 32 in 8 years’ time.  

(a) What is Kelvin’s present age? (2 m)

(b) In how many years’ time will Kelvin’s age be 
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 her cousin’s age?  (4 m)
 
  



	41.
	*Bonus Question*

Find the sum of 1+2+3+4+5+6+…..95.

(Hint: You do NOT need to add up the numbers one by one!) 
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Answer Key

	Q1
	3
	Q11
	3
	Q21
	0.327%
	Q31
	11
	Q38b
	245

	Q2
	3
	Q12
	4
	Q22
	66km/h
	Q32
	$7
	Q39
	37

	Q3
	4
	Q13
	1
	Q23
	160
	Q33
	1730ml
	Q40a
	12

	Q4
	1
	Q14
	4
	Q24
	$96
	Q34
	35°
	Q40b
	4

	Q5
	1
	Q15
	1
	Q25
	3/10
	Q35
	448cm²
	Q41
	4560

	Q6
	1
	Q16
	1/100
	Q26
	1km600m
	Q36a
	3250cm3
	
	

	Q7
	2
	Q17
	10
	Q27
	2
	Q36b
	14
	
	

	Q8
	2
	Q18
	6
	Q28
	96
	Q37a
	75 kms
	
	

	Q9
	3
	Q19
	1/4
	Q29
	$388
	Q37b
	15mins
	
	

	Q10
	1
	Q20
	5cm
	Q30
	44
	Q38a
	105
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